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Solving Simple Rational Equations Practice

Solve the rational equation. Do not forget to determine the'excluded values.
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5. The volume, 6 of a cer'Taiifh the amount of pressure, P, placed on it. The

volume of this gas is 175 cm® when 3.2 kg/cm® of pressure is placed on it. What amount of

pressure must be placed on 400 cm® of this gas? N=%c0\ H00 =30
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6. The time, 7, in houfs, that it takes x people to plant 7 trees varies directly with the numger' of Y100
trees and inversely with the number of people. Suppose 6 people can plant 12 trees in 3 hours. ?7'
How many people are needed to plant 28 trees in 5 hours and 15 minutes? oSS
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Steps:
Example 1: ‘3(} 4) + T 6‘\3 1. Factor the denominator (if possible).
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Please complete work on a separate sheet of paper! 0\‘, b 9 H'U o d"?
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